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Number of Questions to be attempted : 42
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Question Shuffling Allowed : Yes

Question Number : 521 Question Id : 226895680863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

The following activity can be termed as an example of possibilism:

1. Forest worship

2. Ports on the coasts

3. Being afraid of the fury of nature

4. Collecting fruits and herbs from the forest

Options :

2268952639718. 1
2268952639719.2
2268952639720. 3
2268952639721. 4

Question Number : 521 Question Id : 226895680863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Fgfafaa fraraan o 9yadie &1 U6 3a1ev Gel off 9adl &
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2. FEf WITH

3. U & UHi0 § S
4. 97 ¥ B 3R TSl-gfeal Uehid Bl

Options :

2268952639718. 1
2268952639719. 2
2268952639720. 3
2268952639721. 4

Question Number : 522 Question Id : 226895680864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Which of the following statements are correct for ‘technology'?
{A) Understanding of concepts of friction and heat enabled us to conquer many diseases.
(B) Technology indicates the level of cultural development of society.
(C) Technology loosens the shackles of the environment on human beings.
(D) Human beings interact with their physical environment with the help of technology.
Choose the correct answer from the options given below:

1. (A),
2. (A),
3. (A)
4. (B),

B) and (D) only
B) and (C) only
C) and (D) only
C) and (D) only

Options :

2268952639722. 1
2268952639723 2
2268952639724 3



2268952639725 4

Question Number : 522 Question Id : 226895680864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. a4 (A), (B) 3R (D)
2. %44 (A), (B) 3R (Q)
3. %44 (A), (€) 3R (D)
4.%dd (B), (C) IR (D)

Options :

2268952639722. 1
2268952639723 2
2268952639724 3
2268952639725. 4

Question Number : 523 Question Id : 226895680865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which one of the following is a pull factor of migration ?

1. Unemployment
2. Poor living conditions
3. Political turmoil
4. Pleasant climate

Options :

2268952639726. 1
2268952639727. 2
2268952639728. 3
2268952639729. 4

Question Number : 523 Question Id : 226895680865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952639726. 1
2268952639727. 2
2268952639728. 3
2268952639729. 4

Question Number : 524 Question Id : 226895680866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following countries has the highest Human Development Index (2021)?

1. Germany
2. Switzerland

3. Egypt
4. Nepal

Options :

2268952639730. 1
2268952639731. 2
2268952639732. 3
2268952639733. 4

Question Number : 524 Question Id : 226895680866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Fafafad o 9 fou &3 & Ta 9o YE@i® (2021) T84 39 87

1. oAt
2. Raemds
3. T
4. 901d

Options :

2268952639730. 1
2268952639731.2
2268952639732. 3
2268952639733. 4

Question Number : 525 Question Id : 226895680867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the following countries in descending order according to their population.
(A) India
(B) Indonesia
(C) Nigeria
(D) Mexico
Choose the correct option :

1. (A), (B), (C). (D)
2.(A), (Q), (B), (D)
3.(A), (D), (C), (B)
4.(Q). (B). (D). (A)

),
),

Options :

2268952639734 1
2268952639735 2
2268952639736. 3
2268952639737. 4

Question Number : 525 Question Id : 226895680867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. (A), (B), (C). (D)
2.(A), (Q), (B), (D)
3.(A), (D), (C), (B)
4.(Q). (B). (D). (A)

),
),

Options :

2268952639734 1
2268952639735. 2
2268952639736. 3
2268952639737. 4

Question Number : 526 Question Id : 226895680868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

add value to natural resources by transforming raw materials into valuable products.

1. Secondary activities
2. Tertiary activities
3. Quaternary activities
4. Quinary activities

Options :

2268952639738. 1
2268952639739. 2
2268952639740. 3
2268952639741. 4

Question Number : 526 Question Id : 226895680868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

_____ Twd A0 @ T S6a®2 UH s SaeH| &I Jegar & adl 8]

1. fecrae ot
2. Joa famd
3. a4 fepard
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Options :

2268952639738. 1
2268952639739. 2
2268952639740. 3
2268952639741. 4

Question Number : 527 Question Id : 226895680869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Modern large scale manufacturing doesn't have the following characteristic:

1. Specialisation of Skills

2. Technological Innovation

3. Mechanisation

4. Low level capital investment

Options :

2268952639742. 1
2268952639743. 2
2268952639744 3
2268952639745. 4

Question Number : 527 Question Id : 226895680869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952639742. 1
2268952639743.2
2268952639744. 3
2268952639745. 4

Question Number : 528 Question Id : 226895680870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is the main reason for tourist attraction of Southern Europe and the Mediterranean lands?

1. Climate

2. Culture

3. History and Art
4. Economy

Options :

2268952639746. 1
2268952639747. 2
2268952639748. 3
2268952639749. 4

Question Number : 528 Question Id : 226895680870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

FafaRad o 9 oF W efgvll RY iR YHemrRY YEEl & uded S5yl 6 57 BRI 87

1. SIdaR]

2. gEpid

3. 3fe™ 3R &
4. sfema

Options :

2268952639746. 1
2268952639747. 2
2268952639748. 3
2268952639749. 4



Question Number : 529 Question Id : 226895680871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Among the following identify the primary economic activity?

1. Education
2. Forest Safari
3. Fishing

4. 1T industry

Options :

2268952639750. 1
2268952639751. 2
2268952639752. 3
2268952639753. 4

Question Number : 529 Question Id : 226895680871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Ffaad # 9 vy sifds g i ugar?

1. TRuanm
2. T HBRI
3. Ol Umadl

4, M2 I

Options :

2268952639750. 1
2268952639751.2
2268952639752. 3
2268952639753. 4

Question Number : 530 Question Id : 226895680872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which among these does not fall under Quinary Activities?

1. Specialists

2. Consultants

3. Financial Banking
4. Policy formulators

Options :

2268952639754 1
2268952639755 2
2268952639756. 3
2268952639757. 4

Question Number : 530 Question Id : 226895680872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
399 § &1 91 d=F fopareif & ofcria 78 omar 87

1. fagwg
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Options :
2268952639754. 1



2268952639755.2
2268952639756. 3
2268952639757 4

Question Number : 531 Question Id : 226895680873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11

List-1 List-11

(Name of the Pack Animals) |(Areas where they are used as means of transportation)

(A) Mules (I} Mountains

(B) Camels (I) Siberia

(C) Reindeer (Ill) Deserts

(D) Horses (IV) Western Countries

Choose the correct answer from the options given below:

1. (A
2. (A
3.(A
4. (A

= (1, (B) - (1, (©) - (1, (D) - (V)
= (1, (B) - (), (C) - (), (D) - (V)
= (0, (B) - (I, (C) - (V) (D) - (1)
= (1, (B) - (1V), {C) - (1, (D) - (N

Options :

2268952639758. 1
2268952639759. 2
2268952639760. 3
2268952639761. 4

Question Number : 531 Question Id : 226895680873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952639758. 1
2268952639759. 2
2268952639760. 3
2268952639761. 4

Question Number : 532 Question Id : 226895680874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1



What are the different names of Shifting Cultivation ?

{A) Jhuming

(B) Chinook

(C) Milpa

(D) Plantation agriculture

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A) and (C) only
3.(C) and (D) enly
4. (B), (C) and (D) only

Options :

2268952639762 1
2268952639763. 2
2268952639764. 3
2268952639765. 4

Question Number : 532 Question Id : 226895680874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

WFTRUETE B & AE T eE 4 87
(A)
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1.%ad (A), (8) 3R (D)
2. Had (A) 3R (Q)
3. 9%dd (C) 3R (D)
4.%ad (B), (C) 3R (D)

Options :

2268952639762. 1
2268952639763. 2
2268952639764. 3
2268952639765. 4

Question Number : 533 Question Id : 226895680875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The Channel Tunnel connects which of the following pair of cities?

1. London-Moscow
2. London-Paris
3. London-Brussels
4. Berlin-London

Options :

2268952639766. 1
2268952639767. 2
2268952639768. 3
2268952639769. 4



Question Number : 533 Question Id : 226895680875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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2. de-uiyg
3. Fe-gud
4. gft-ded

Options :

2268952639766. 1
2268952639767. 2
2268952639768. 3
2268952639769. 4

Question Number : 534 Question Id : 226895680876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following is NOT the basis of international trade?

1. Difference in national resources
2. Stage of economic development
3. Extent of foreign investment

4. Even distribution of resources

Options :

2268952639770. 1
2268952639771. 2
2268952639772. 3
2268952639773 4

Question Number : 534 Question Id : 226895680876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Frafaiad # 9 o1F 91 SAaRIF SR &1 3M4R T8 87
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2. 3 faerg ol ==
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Options :

2268952639770. 1
2268952639771.2
2268952639772 3
2268952639773 4

Question Number : 535 Question Id : 226895680877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Big Inch, a famous pipeline which carries petroleum from the oil wells, is located in which one of the following
countries?

1. US.A
2. Canada
3. Brazil
4. India

Options :
2268952639774. 1



2268952639775.2
2268952639776. 3
2268952639777 4

Question Number : 535 Question Id : 226895680877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

a3, TP URis UEuaR S o9 & oeil @ Yol o Skt &, Fefafed fa cu d Rud g2

1. 90481
2. TS
3. S
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Options :

2268952639774. 1
2268952639775. 2
2268952639776. 3
2268952639777. 4

Question Number : 536 Question Id : 226895680878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

The roads laid along international boundaries are called :

1. International Roads

2. International Highways
3. District Roads

4. Border Roads

Options :

2268952639778. 1
2268952639779. 2
2268952639780. 3
2268952639781. 4

Question Number : 536 Question Id : 226895680878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

SRIPTg AT & WY [§o1s 18 9So! ®f el §idl &

1. 2RIPHE Hgh
2. RIPTY HEMRt
3. foar wsd

4, dimadf 98d

Options :

2268952639778. 1
2268952639779. 2
2268952639780. 3
2268952639781. 4

Question Number : 537 Question Id : 226895680879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which of the following transportation mode is most suited for large volumes of bulky materials over long distances
within a country?

1. Air Transportation
2. Road Transportation
3. Rail Transportation
4. Pipelines

Options :

2268952639782. 1
2268952639783. 2
2268952639784. 3
2268952639785. 4

Question Number : 537 Question Id : 226895680879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

FafaRad # O &F W ulkag e fed! o2 & iR el g3 W 4R AE § 4R 9wl & T 9ey Suged 62

1. gdI3 URded
2. 95 Uide
3. 39 uftgga
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Options :

2268952639782. 1
2268952639783. 2
2268952639784. 3
2268952639785. 4

Question Number : 538 Question Id : 226895680880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Identify the correct statements about pipelines.

(A) Pipelines are extensively used to transport liquid and gases.

(B) Pipelines can also be used to transport liquified coal.

(C) Milk is not supplied through pipelines in any country of the world as it is unhealthy.
(D) LPG is supplied only through gas cylinders for safety reasons.

Choose the correct answer from the options given below:

1. (A), (C) and (D) only
2. (A), (B) and (C) only
3. (A) and (B) only.

4. (B), (C) and (D) only

Options :

2268952639786. 1
2268952639787. 2
2268952639788. 3
2268952639789. 4

Question Number : 538 Question Id : 226895680880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952639786. 1
2268952639787. 2
2268952639788. 3
2268952639789. 4

Question Number : 539 Question Id : 226895680881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Arrange the following railway stations of the Trans Siberian Railway from west to east.
{A) Moscow

(B) Kazan

(C) Omsk

(D) Chita

Choose the correct answer from the options given below:

1.{A), (Q), (B), (D)
2. (C), (A). (B), (D)
3. (A), (B), (Q). (D)
4. (C), (B), (D), (A)
Options :

2268952639790. 1
2268952639791. 2
2268952639792. 3
2268952639793. 4

Question Number : 539 Question Id : 226895680881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952639790. 1
2268952639791. 2
2268952639792. 3
2268952639793. 4

Question Number : 540 Question Id : 226895680882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which one out of the following is least urbanized state of India?

1. Himachal Pradesh
2.Goa

3. Rajasthan

4. Maharashtra

Options :

2268952639794. 1
2268952639795. 2
2268952639796. 3
2268952639797. 4

Question Number : 540 Question Id : 226895680882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
FfaRad & ¥ &F 91 YR & 964 & RIS I 67

1. e wew
2. 70T
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4. ERTY

Options :

2268952639794. 1
2268952639795. 2
2268952639796. 3
2268952639797. 4

Question Number : 541 Question Id : 226895680883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1



Which of the following age group belongs to the adolescents population?

1.5-10 Years

2.10-19 Years
3. 20-30 Years
4. 30-45 Years

Options :

2268952639798. 1
2268952639799. 2
2268952639800. 3
2268952639801. 4

Question Number : 541 Question Id : 226895680883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

FofaRad D oy o ek a3 Uafih 32

1.5-10 @
2.10-19 99
3.20-30 4
4.30-45 9

Options :

2268952639798. 1
2268952639799. 2
2268952639800. 3
2268952639801 4

Question Number : 542 Question Id : 226895680884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Arrange the following Indian towns from ancient to modern period according to their times of evolution.
{A) Chandigarh

(B) Magpur

(C) Madurai

(D) Surat

Choose the correct answer from the options given below:

Options :

2268952639802. 1
2268952639803. 2
2268952639804. 3
2268952639805. 4

Question Number : 542 Question Id : 226895680884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952639802. 1
2268952639803. 2
2268952639804. 3
2268952639805. 4

Question Number : 543 Question Id : 226895680885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11

List-1 List-11

(Linguistic family) (Branch/Group)

(A) Indo-European (Aryan) |(I) Iranian

(B) Sino-Tibetan (Kirata) (I Munda

(C) Austric (Nishada) () North Assam

(D) Dravidian (Dravida) (IV) North Dravidian

Choose the correct answer from the options given below:

1. (A
2. (A
3.(A
4. (A

= (1, (B) - (1, (©) - (1, (D) - (V)
= (1, (B) - (), (C) - (), (D) - (V)
= (0, (B) - (I, (C) - (V) (D) - (1)
= (1, (B) - (1V), {C) - (1, (D) - (N

Options :

2268952639806. 1
2268952639807. 2
2268952639808. 3
2268952639809. 4

Question Number : 543 Question Id : 226895680885 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(1, (B)-(), (Q-(M), (D)-(1V)

(0,
2. (A)-(1), (B)-(1, (©)-(, (DY-(IV)
3. (A)-(0, (B)-(1n), (©-(IV), (D)-(11)
4. (A)-(lln, (B)-(V), (C)-(1). ()-(1N)

Options :

2268952639806. 1
2268952639807. 2
2268952639808. 3
2268952639809. 4

Question Number : 544 Question Id : 226895680886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following criteria is NOT correct as per the definition of urban settlement given by the Census of India in
19917

1. Place having minimum population of 5000.

2. At Least 50 percent of male workers are engaged in non-agricultural pursuits.

3. Place having a density of population of at least 400 person per square kilometer.

4. All places which have a municipality, corporation, cantonment board or Notified town area committee.

Options :

2268952639810. 1
2268952639811.2
2268952639812. 3
2268952639813. 4

Question Number : 544 Question Id : 226895680886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

e § 9 &F 91 9FES 1991 H YRA @1 S-RI0HT GRT &1 715 [ed a%i1 &1 Ul & SRR Ual 6l a7

1. "G 5000 DI SR 9T ®H

2. @ ¥ B 50 Uad 530 e TR-5f ®Ef | & g sl

3. 0 Y & 400 G U I [daiHIeR &1 Seed] 91 aral ®IF

4.9 9of = SRt TG, Fm, SE aie a1 HREgid TR 6 9 gl

Options :

2268952639810. 1
2268952639811. 2
2268952639812. 3
2268952639813. 4

Question Number : 545 Question Id : 226895680887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-11

List-1 List-11

(Town Name) |(Town Type)
(A) Chandigarh |(l) Administrative Town

(B) Kandla (i) Transport Town

(C) Jharia (11} Mining Town

(D} Jalandhar (IV) Garrisson Town

Choose the correct answer from the options given below:

1. (A
2. (A
3.(A
4. (A

)= (0, (B) - (1), (C) - (1), (D) - (V)
)= (0, (B) - (), (C) - (V). (D) - (1)
)= (0, (B) - (IV), (Q) - (), (D) - (1)
)= (1, (B) - (1V), (©) - (1), (D) - (I
Options :

2268952639814. 1

2268952639815. 2

2268952639816. 3

2268952639817. 4

Question Number : 545 Question Id : 226895680887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 B -1l D G e Siferg
-1 -1l
(GRESIL)] (TR UPR)

(A) dSHTg (1) TRITHHS TR
(B) Diaal (i) TREsd TR
@k (1) @ TR
(D) TR (v) e TR
T & T famedl © O 9l S 3|

1. (A)-(, (B)-(10), (-, (D)-(V)
2. (A)-(1), (B)-(10), (©)-(IV), (D)-(11D)
3. (A)-(, (B)-(1V), (Q)-(1n), (D)-(1)
4. (A)-(In, (B)-(V), (©)-(1). (D)-(IN)

Options :

2268952639814. 1
2268952639815. 2
2268952639816. 3
2268952639817. 4

Question Number : 546 Question Id : 226895680888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Post independence, the Indian government imported the High Yield Varieties of wheat from

1. Philippines
2. Mexico

3. Russia

4. Japan

Options :



2268952639818. 1
2268952639819. 2
2268952639820. 3
2268952639821. 4

Question Number : 546 Question Id : 226895680888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Tl & 916, HRA PR A

1. Ttpeiidig
2. Bfgga!
3. 59
4. SO

g 31 3= I a1al| e ! @ ST e

Options :

2268952639818. 1
2268952639819. 2
2268952639820. 3
2268952639821. 4

Question Number : 547 Question Id : 226895680889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following state does NOT have high levels of groundwater utilization?

1. Odisha

2. Haryana

3. Punjab

4. Tamil Nadu

Options :

2268952639822 1
2268952639823. 2
2268952639824. 3
2268952639825. 4

Question Number : 547 Question Id : 226895680889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Fofafad ¥ O fog s § Yo S99 &1 39 R T8l 87

1. 3ifaEn
2. eiamn
ERIE I

4. g

Options :

2268952639822. 1
2268952639823. 2
2268952639824. 3
2268952639825. 4

Question Number : 548 Question Id : 226895680890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Mumbai High is famous for

1. Petroleum Reserves
2. Coal Reserves

3. Iron Ore Reserves
4. Copper Reserves

Options :

2268952639826. 1
2268952639827. 2
2268952639828. 3
2268952639829. 4

Question Number : 548 Question Id : 226895680890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Options :

2268952639826. 1
2268952639827. 2
2268952639828. 3
2268952639829. 4

Question Number : 549 Question Id : 226895680891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the followings is a target group development programme?

1. Command Area Development Programme

2. Drought Prone Area Development Programme
3. Desert Development Programme

4. Small Farmers Development Agency

Options :

2268952639830. 1
2268952639831.2
2268952639832. 3
2268952639833. 4

Question Number : 549 Question Id : 226895680891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
FafaRad & O &F U 1P dléd YiE Ao S &2

1. BAM &7 [Tp™ sEed

2. 9@ yav &7 fasrd erisH
3. Towd fqog sey

4. Y PYD faBTg Tord!

Options :

2268952639830. 1
2268952639831. 2
2268952639832 3
2268952639833. 4



Question Number : 550 Question Id : 226895680892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Arrange the following river basins in descending order according to their size.
(A) Mahanadi
(B) Godavari
(C) Ganga
(D} Pennar

Choose the correct answer from the options given below:

Options :

2268952639834. 1
2268952639835. 2
2268952639836. 3
2268952639837. 4

Question Number : 550 Question Id : 226895680892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
FrafaRad 7ol Sl &1 37 SMER & SFUR 2aR0e] HH H FaRyd S |
(A) FEFTG]
(B) TMETaR]
(€)M
(D) ¥R
i feu e fa el 9 98l 9 9 |

1.
2.(
3.(8
4. (

Options :

2268952639834. 1
2268952639835. 2
2268952639836. 3
2268952639837. 4

Question Number : 551 Question Id : 226895680893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Identify the correct statements about Common Property Resources.
{A) According to ownership, land can be classified as - Private land and Common Property Resources.
(B) The land owned by the state meant for use of the community is called Common Property Resource.

(C) The Common Property Resource is of particular relevance for the livelihood of landless and marginal farmers in
rural areas.

(D) The ownership of Common Property Resource land lies with a group of people living in that area.
Choose the correct answer from the options given below:

1. (A) and (D) only

2. (A), (B) and (C) only
3. (A), (C) and (D) only
4. (B), (C) and (D) only

Options :

2268952639838. 1
2268952639839. 2
2268952639840. 3
2268952639841. 4

Question Number : 551 Question Id : 226895680893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
I Ui GHIE & SR H Wel YAl &1 UgdH S |
(A) HMH@E & 3FFER, Y @I sl YEu R =1 9u §areHl & w0 H ¥ igd (a1 o 9ol |
(B) THGH & ST & fo7g Tod & Wit arelt YfH & arn Suki Jaree o8l o g
(C) HTH Hul HareE A a5 H YR SR Wi fear! ot asiifasT o o a2y & U 9 Ui g
(D) TS YUy TeF Y &1 W@Iiia 9W &5 5 8- a1d aill & U 9g & U gl g
i feu e fadedl & § wEt IR 9

1. %ad (A) 3 (D)

2.Had (A), (B) 3R (O)
3.Wad (A), (C) 3R (D)
4. W4d (B), (C) 3R (D)

Options :

2268952639838. 1
2268952639839. 2
2268952639840. 3
2268952639841. 4

Question Number : 552 Question Id : 226895680894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1



Match List-1 with List-11

List-1 List-1i

(Agricultural Land use

(Characteristics)
Category)
(A) Culturable Waste Land (I) Land which has been left uncultivated for one or less than one agricultural year.
(B) Current Fallow (Il) Land which has been left uncultivated for more than five years.

(C) Fallow other than Current

Fall (I} Physical extent of land on which crops are sown and harvested.
allow

(IV) Land which has been left uncultivated for more than one year but less than five
years.

(D) Net Sown Area

Choose the correct answer from the options given below:

1. (A) - (N, (B) - (0, (C) - (V). (D) - (1)
2. (A) - (1), (B) - (1), (Q) - (1), (D) - (V)
3. (A) - (). (B) - (I, (C) - (IV), (D) - (1)
4. (A) - (), (B) - (IV), (©) - (1), (D) - ()

Options :

2268952639842. 1
2268952639843. 2
2268952639844. 3
2268952639845 4

Question Number : 552 Question Id : 226895680894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 B -1l D G e Siferg

-1 -1
@Y yf Sug o) (R
(A) Dty o7 yffy (1) T8 YT <1 U@ Y a6 01 399 &1 90Y d@ BitRied el 8l

(B) TAHH R yffy (1) T8 YT <1 Tl uig aut 9 e 9o 9@ Hikied Bl ol

(C) TRTEH TRl Yfiy (1) 4ff1 &7 i R 0 R BUE 3R AR B Sl & |

(D) Faa s & (v) 98 Y[ & UF o8 T i@ ©fe Ui 99 O &F 994 a@ $ikied el gl
I & T fowedl © © Wl S 44|

1. (A)-(1), (B)-(1), ()-(IV), (D)-(1)
2. (A)-(11), (B)-(1, (Q)-(1), (D)-(IV)
3. (A)-(0, (B)-(1n), (S-(1V), (D)-(I)
4. (A)-(In, (B)-(V), (©)-(1). (D)-(IN)

Options :

2268952639842. 1
2268952639843. 2
2268952639844. 3
2268952639845. 4

Question Number : 553 Question Id : 226895680895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Which one of the following activities involve the collection, production and dissemination of information or even the
production of information?

1. Primary Activity
2. Tertiary Activity
3. Secondary Activity
4. Quaternary Activity

Options :

2268952639846. 1
2268952639847 2
2268952639848. 3
2268952639849. 4

Question Number : 553 Question Id : 226895680895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

FafaRad & O oy fegrsary & a1 1 Y90, SdTed SR TR 41 9g] ad 1o a1 &1 Sdle M o7

1. WU harhay
2. Jaid g an
3. Tedia® fhgidag
4. =94 fra@an

Options :

2268952639846. 1
2268952639847.2
2268952639848. 3
2268952639849. 4

Question Number : 554 Question Id : 226895680896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which one out of the following is incorrect about Pawan Hans limited?

1. Helicopter service in hilly areas.

2. Helicopter service to petroleum sector.

3. Helicopter service in tourism sector.

4. It is widely used in central India for tourism.

Options :

2268952639850. 1
2268952639851. 2
2268952639852. 3
2268952639853. 4

Question Number : 554 Question Id : 226895680896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
UoH g4 fafids & aR # FRfiRed | 9§ & 91 70d 82

1. UgTel & I gelidieR odl

2. Ueiferm &7 & R geiioiex da

3. g &F I goiidie ual

4. 99 YR § GeT & foe 39 agd U I 399 g S &

Options :

2268952639850. 1
2268952639851. 2
2268952639852. 3



2268952639853. 4

Question Number : 555 Question Id : 226895680897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match the followings:

List-1 List-1I
Seaports State

(A) Kandla () Goa

(B) Haldia (Il) Odisha

(C) Marmagao {lll) West Bengal
(D) Paradwip (IV) Gujarat

Choose the correct answer from the options given below:

1. (A
2. (A
3.(A
4. (A

= (IV), (8) - (), () - (0, (D) - (1N
= (1, (B) - (), (C) - (), (D) - (V)
= (0, (B) - (I, (C) - (V) (D) - (1)
= (1, (B) - (1V), {C) - (1, (D) - (N

Options :

2268952639854. 1
2268952639855. 2
2268952639856. 3
2268952639857 4

Question Number : 555 Question Id : 226895680897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 B G-Il D Gy e Siforg

- -1t

TS I

(A) BiST ORIG

() gfetd (OEEER

(C) TrEfma (1) I3 g

(D) URT&Y (V) ToRIE

I & T fawedl © O el SO 9|

1. (A)-(1V), (B)-(11), (©)-(1). (D)-(11)

2. (A)-(1), (B)-(l1), (C)-(11), (D)-(IV)

3. (A)-(1), (B)-(10), (C)-(1V), (Dy-(l1)

4. (A)-(1), (B)-(1V), (C)-(1). (D)-(1))
Options :

2268952639854. 1
2268952639855. 2
2268952639856. 3
2268952639857. 4

Question Number : 556 Question Id : 226895680898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



In the following identify the correct statements about the Konkan Railway.
(A) It was constructed in 1998.

(B) It connects Roha in Maharashtra to Mangalore in Karnataka.

(C) It is considered an engineering marvel.

(D) The states of Maharshtra, Tamil Nadu and Karnataka are partners in it.
Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A), (C) and (D) only
4. (B), (C) and (D) only

Options :

2268952639858. 1
2268952639859. 2
2268952639860. 3
2268952639861 4

Question Number : 556 Question Id : 226895680898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Fafafad & Sieu ad & R § §8] HYH! 3 UgdH |
(A) 3T 0T 1998 H febar a7 41|

(B) U8 HERTY & el B Hilcd & HTaR U Sigdl &l
(C) 38 SR BT 3FET IHWPR HHI Sl 8 1

(D) HERIE, TG 2R Hiicd Aot 39H HFER &
il fu 7Te fgeul H § w8t S I

1. &ad (A), (B) 3R (D)
2.%4d (A), (8) 3R (O
3. Had (A), (O) IR (D)
4.%4d (B), (C) IR (D)

Options :

2268952639858. 1
2268952639859. 2
2268952639860. 3
2268952639861. 4

Question Number : 557 Question Id : 226895680899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is NOT an example of mass communication?

1. Cinema

2. Radio

3. Letters

4. Newspapers

Options :

2268952639862. 1
2268952639863. 2
2268952639864. 3
2268952639865. 4



Question Number : 557 Question Id : 226895680899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

fgfafad 3§ 9 oF 91 54 (@do-id) 99R &1 3680 Tl 87

1. e

2. 3fea
3.0

4. GHER O

Options :

2268952639862. 1
2268952639863. 2
2268952639864. 3
2268952639865. 4

Question Number : 558 Question Id : 226895680900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Arrange the following commeodities in descending order according to their share in India’s import (2021-2022)7
(A) Petroleum, oil and Lubricants
(B) Chemical Products
(C) Fertilizers and fertilizer manufacturing
(D) Iron and Steel
Choose the correct answer from the options given below:
1.(A), (B). (O), (D
2.(A) (). (D). (B
3.(Q (A (D). (B
4.(C), (B). (D), (A)

=

v

-

v

)
)

Options :

2268952639866. 1
2268952639867. 2
2268952639868. 3
2268952639869. 4

Question Number : 558 Question Id : 226895680900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

FAfRad IEgel &I HRd & A (2021-2022) H 3 66 & SUR ARG HH H oJaRyd B |
(A) USIFgH, o9 SR Hed

(B) I I

(C) I Ud Faep fafiur

(D) T8 #fR I

4 feu e fadedl O wet 3w )




2268952639866. 1
2268952639867. 2
2268952639868. 3
2268952639869. 4

Question Number : 559 Question Id : 226895680901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which one of the following type of pollution is considered as the World's Top Environmental Health Risk by the World
Health Organization?

1. Noise Pollution
2. Water Pollution
3. Air pollution

4. Land Pollution

Options :

2268952639870. 1
2268952639871. 2
2268952639872. 3
2268952639873. 4

Question Number : 559 Question Id : 226895680901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Fofafad o 9 fou TR & UgHYl &I {9y g W64 GR1 9 &1 3 aiaiig w@red Sikagd O ol o7

1. @ UgHI
2. Ie Hguul
3. 91 Hguu
4. Y UGHU

Options :

2268952639870. 1
2268952639871.2
2268952639872. 3
2268952639873. 4

Question Number : 560 Question Id : 226895680902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
Identify the correct statements about urban waste disposal.

{A) The environmental pollution due to solid waste is not very significant in urban areas of India due to low level of
urbanisation.

(B) Dumping industrial waste into rivers causes water pollution.

(C) Solid waste refers to a variety of old and used articles.

(D) Solid waste from industrial units is collected and disposed off on low-lying public grounds.
Choose the correct answer from the options given below:

1. (A),
2. (A),
3. (A)
4. (B),

B) and (D) only
B) and (C) only
C) and (D) only
C) and (D) only

Options :

2268952639874 1
2268952639875. 2
2268952639876. 3



2268952639877. 4

Question Number : 560 Question Id : 226895680902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

TE{l SHURE FUEH & SR H 981 HY Bl U Sito |

(A) TG & 9 TR & BRI HRA & e 431 H 314 Uiy & SR g drel gaiav Yy 9gd Aeayy 1gl 8l
®) it Sy ot At & e 4 ofd Uguu gl |

(C) 319 iRy fafts UeR &1 QU 7R ad aegef ®f Yaiid @il

(D) AENE SHIeal 4 31 UlRE Ue a1 ST § 8k e ¥de & gavi-e o R Fid far s gl

i feu o fad el & § wEt I 4

1. ®4d (A), (B) 3R (D)
2. %44 (A), (B) 3R (Q)
3. %494 (A), (C) 3R (D)
4. %4d (B), (C) IR (D)

Options :

2268952639874. 1
2268952639875. 2
2268952639876. 3
2268952639877. 4

Sub-Section Number : 2
Sub-Section Id : 22689528014
Question Shuffling Allowed : No

Question Id : 226895680903 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (561 to 565)

Read the given passage carefully and answer the following questions.

Trade is essentially the buying and selling of items produced elsewhere. All the services in retail and wholesale trading or
commerce are specifically intended for profit. The towns and cities where all these works take place are known as trading
centres.

The rise of trading from barter at the local level to money-exchange on an international scale has produced many centres and
institutions, such as trading centres or collection and distribution points.

Trading centres may be divided into rural and urban marketing centres.

Rural marketing centres cater to nearby settlements. These are quasi-urban centres. They serve as trading centres of the most
rudimentary type. Here, personal and professional services are not well-developed. These form local collecting and distributing
centres. Most of these have mandis (wholesale markets) and also retailing areas. They are not urban centres per se but are
significant centres for making available goods and services which are most frequently demanded by rural folk.

Periodic markets in rural areas are found where there are no regular markets and local periodic markets are organised at
different temporal intervals. These may be weekly, bi-weekly markets where people from the surrounding areas meet their
temporally accumulated demand. These markets are held on specified dates and move from one place to another. The
shopkeepers, thus, remain busy all day while a large area is served by them.

Urban marketing centres have more widely specialised urban services. They provide ordinary goods and services as well as many
of the specialised goods and services required by people. Urban centres, therefore, offer manufactured goods as well as many
specialised developed markets, e.g. markets for labour, housing, semi-or finished products. Services of educational institutions
and professionals such as teachers, lawyers, consultants, physicians, dentists and veterinary doctors are available.

Sub questions

Question Number : 561 Question Id : 226895680904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1



The towns and cities where the buying and selling of goods takes place are known as:

1. quasi-urban centres
2. trading centres

3. periodic markets

4. departmental stores

Options :

2268952639878. 1
2268952639879. 2
2268952639880. 3
2268952639881. 4

Question Number : 562 Question Id : 226895680905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which one of the following are quasi-urban centers and cater to nearby settlements?

1. Urban marketing centres
2. Periodic markets

3. Rural marketing centres
4. Chain stores

Options :

2268952639882. 1
2268952639883. 2
2268952639884. 3
2268952639885. 4

Question Number : 563 Question Id : 226895680906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

These markets are found where there are no regular markets and organised at different temporal intervals, where
people from the surrounding areas meet their temporally accumulated demand.

1. Retail Trading

2. Urban marketing centres
3. Rural marketing centres
4. Periodic markets

Options :

2268952639886. 1
2268952639887. 2
2268952639888. 3
2268952639889. 4

Question Number : 564 Question Id : 226895680907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following services is generally NOT a characteristic feature of the urban marketing centres?

1. Consultants

2. Local collection and distribution
3. Veterinary doctors

4. Markets for labour

Options :

2268952639890. 1
2268952639891. 2
2268952639892. 3
2268952639893. 4



Question Number : 565 Question Id : 226895680908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following is NOT a characteristic of rural market centres?

1. They are pure urban centres with specialisation in rural products.
2. They are most rudimentary type of trading centres.

3. Here professional and personal services are not well-developed.
4. Most of these have mandis (wholesale markets).

Options :

2268952639894. 1
2268952639895. 2
2268952639896. 3
2268952639897. 4

Question Id : 226895680903 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (561 to 565)
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Sub questions

Question Number : 561 Question Id : 226895680904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952639878. 1
2268952639879. 2
2268952639880. 3
2268952639881. 4



Question Number : 562 Question Id : 226895680905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952639882. 1
2268952639883. 2
2268952639884. 3
2268952639885. 4

Question Number : 563 Question Id : 226895680906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952639886. 1
2268952639887. 2
2268952639888. 3
2268952639889. 4

Question Number : 564 Question Id : 226895680907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952639890. 1
2268952639891. 2
2268952639892. 3
2268952639893. 4

Question Number : 565 Question Id : 226895680908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :
2268952639894. 1
2268952639895. 2



2268952639896. 3
2268952639897. 4

Sub-Section Number : 3
Sub-Section Id : 22689528015
Question Shuffling Allowed : No

Question Id : 226895680909 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (566 to 570)

Read the given passage carefully and answer the following questions.

An uneven spatial distribution of the population in India suggests a close relationship between the population and physical,
socio-economic and historical factors. As far as the physical factors are concerned, it is clear that climate along with the terrain
and the availability of water largely determine the pattern of the population distribution. Consequently, we observe that the
North Indian Plains, deltas and Coastal Plains have a higher proportion of the population than the interior districts of the
southern and central Indian States, the Himalayas, and some of the north-eastern and western states. However, development of
irrigation (Rajasthan), availability of mineral and energy resources (Jharkhand) and development of transport network
(Peninsular States) have resulted in a moderate to high concentration of population in areas which were previously very thinly
populated.

Among the socio-economic and historical factors of the distribution of population, important ones are the evolution of settled
agriculture and agricultural development; the pattern of human settlement; development of transport networks, industrialisation
and urbanisation. It is observed that the regions falling in the river plains and coastal areas of India have remained the regions
of larger population concentration. Even though the use of natural resources like land and water in these regions has shown the
sign of degradation, the concentration of the population remains high because of the early history of human settlement and the
development of transport networks. On the other hand, the urban regions of Delhi, Mumbai, Kolkata, Bengaluru, Pune,
Ahmedabad, Chennai and Jaipur have high concentrations of population due to industrial development and urbanisation,
drawing large numbers of rural-urban migrants.

Sub questions

Question Number : 566 Question Id : 226895680910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

An uneven spatial distribution of the population in India does not suggest a close relationship between the population
and which one of the following?

1. Physical factors

2. Literacy Rate

3. Socio-economic factors
4. Historical factors

Options :

2268952639898. 1
2268952639899. 2
2268952639900. 3
2268952639901. 4

Question Number : 567 Question Id : 226895680911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Development of irrigation has resulted in moderate to high concentration of population in which of the following
state?

1. Rajasthan

2. Jharkhand

3. Himachal Pradesh
4. Sikkim

Options :
2268952639902. 1
2268952639903. 2



2268952639904 3
2268952639905. 4

Question Number : 568 Question Id : 226895680912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is NOT a socio-economic or historical factor of the distribution of the population?

1. Evolution of settled agriculture

2. Industrialisation and urbanisation
3. Development of transport network
4. Availability of water

Options :

2268952639906. 1
2268952639907. 2
2268952639908. 3
2268952639909. 4

Question Number : 569 Question Id : 226895680913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Urban regions of India have a high concentration of the population due to

1. Industrial development and urbanisation

2. Agricultural development

3. Pattern of human settlement

4. Availability of mineral and energy resources

Options :

2268952639910. 1
2268952639911. 2
2268952639912. 3
2268952639913. 4

Question Number : 570 Question Id : 226895680914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1

Which factor has resulted in a moderate to high concentration of population in areas of the Peninsular States which
were previously very thinly populated?

1. Availability of mineral and energy resources
2. Development of irrigation facilities

3. Development of transport network

4. Socio-economic and historical factors

Options :

2268952639914. 1
2268952639915. 2
2268952639916. 3
2268952639917. 4

Question Id : 226895680909 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (566 to 570)
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Mandatory : No

Correct Marks : S Wrong Marks : 1
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2268952639898. 1
2268952639899. 2
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Question Number : 567 Question Id : 226895680911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952639902. 1
2268952639903. 2
2268952639904. 3
2268952639905. 4

Question Number : 568 Question Id : 226895680912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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2268952639906. 1
2268952639907. 2
2268952639908. 3
2268952639909. 4

Question Number : 569 Question Id : 226895680913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952639910. 1
2268952639911.2
2268952639912 3
2268952639913. 4

Question Number : 570 Question Id : 226895680914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : S Wrong Marks : 1
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